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15 + 11 = 26( cm?)
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ABDE = %AABD = % X %DABCD = 12(cm?)
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1 1
ADPQ = §ADBP =3 x 8 = 4(cm?)
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A D
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@ 600cm? ® 642cm?

B \
AAOD : ACOD =1:2 90|22

48 : ACOD =1:2 .. ACOD = 96 cm?

ojmf AABD = AACD ©°|E 2

AABO = ACOD = 96 cm?

T, AABO:ACOB=1:20]|2=2

96: ACOB=1:2 .. ACOB = 192 cm?

- OABCD = 48 + 96 + 96 + 192 = 432( cm?)




17. o2 283 Zo] /B = 64°9] HPAPAY
ABCD 9] ZA1H A4 /D 9] o]5&4 ¢
off W&l 49 g Fet & o, /BAF 9
A71E oot

o

=
=

>
[> Heh: 58°

oHd =

B ‘

LADF = /CDF = 64°+ 2 = 32°
/DAF = 180° — (32° + 90°) = 58°
/DAB = 180° - 64° = 116°
-. /BAF = /DAB - /DAF
=116° - 58°
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/A + /D =180° — §ZA+54D=90° ol

(FDA + (DAE = 90° 0|22
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